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IBPS Target Batch Schedule

** Monday- Basic topic ( 10min Quiz )

X Tuesday- Basic topic ( 10min Quiz )
X Wednesday- Basic topic ( 10min Quiz )
** Thursday- DI special ( Prelims Level )

** Friday- Top Trending Questions ( Word
Problems) - Same or Miscellaneous

X Saturday- Mains Magic ( Mains level) =






If the total income of A, B and C is 142000rs. If they spend 70%, 75% and 60% of their
income respectively. If their savings are in the ratio 9:4:10 then find the income of A?

Ifg A, B3R CH Pl T 142000 IUY &1 Ife I U T &I HAA: 70%, 75% 3R 60%
T LA ©| TiG SAh! Tod B HGUId 9:4:10 &, dl AH 3T AT HIfS |

(/ ')W A.50000

=~ /7 B.30000
C.55000
D.60000
E.NOT




One year ago the ratio of income of A & B are in the ratio 5:7. The ratio of their last

year to present year income is 3:11 and 2:7. If their total present income is 257000rs

then find the income of B one year ago?

Th dY Ugel AR BT 31T &l U 5: 7 & 3HJUld H &| 3 ATAA a¥ 3R addAd a¥ &6 AT T 37e]urd
3: 11 3R 2: 7 &1 IS SADBT ST adAT AT 257000 ¥ &, a T d¥ Ugel BHN T <A1 HIfor?

(/ -+ A:30000

Y ) B.42000
C.24000
D.35000
E.NOT




The ratio of last year income of A, B & C is 3:4:5. while ratio of their last year income to

present year income is 4:5, 2:3, 3:4. If their total present year income is 98500rs then
find the present income of B?

A, B3R ChT TS a¥ &1 3T Bl AJUId 3:4:5 &l Sdih b WS a¥ &1 3T 3R
IAATA aY 6T T &1 IHJAId 4: 5, 2: 3, 3: 4 gl IfE SANT IIAT a¥ P FoT 3T 98500
TUY &, dl B addAld M AT Hifora?

(/ )\> A.21900

=~ /7 B.35000
C.24000
D.36000
E.NOT




A man invest a fix amount in debit and mutual fund scheme are in the ratio 5:6. At the
end of the year he earn 20% of profit. He again invest his all money in debit and mutual
fund are in the ratio 7:5. If his present mutual fund amount is 220000rs then find his

initial money invest in debit?

Teh gt Sfde 3R FYIIe $3 AT A T faffg Ty &1 [aer s 6333-@’01?—[3?%IENT
& AT A gE AH F 20% HAGT &1 I¢ T ¥ Sfde 3R FIH $s A 30 aw dar fqaw
PIAT & Sl 7: 5 b IFUId H ¥l Il SHPI IAATT FI3Te msrrf‘rzzoooom%,a’r

38hT URTAG 9 sfde # [[d Ja fifaa?
(‘ \> A.100000

B.200000
C.350000
D.400000
E.NOT




If the income of A and B are in the ratio 5:6 and their expenditure are in the ratio 8:7. If
A saves 1/3th of his income then find the ratio of their savings?

I A 3R BT 3T T 3IUIT 5:6 & 3 Sechl IT 8:7 & 3HUid H gl TG A FUAT 31
T 1/3 AT 1T & dl SAh! gad &1 uld A1d Hiad?




If the income of A, B and C are in the ratio 7:9:12 and their expenditure are in the ratio
8:9:15. If A saves 1/4th of his income then find the ratio of their savings?

gfe A, B3 CH 3T P 3AHFUIT 7:9:12 & 3 3ADT T 8:9:15 & IgUid H &l Il A
HUAT 3T BT 1/4 HIIT TATAT & Al SeTehl T P HJUTd AT hiforA?

A.42:23:51
B.56:99:69
C.39:12:34
D.21:34:11
E.NOT




A bag contains 50 paise, 25 paise and 10 paise are in the ratio 5:9:4 respectively

amounting to 206rs. Find the number of coins of 25 paise?

U J91 A 50 U, 25 9F 3R 10 UH &1 HJUTd hAA: 5:9:4 &, Sl 206 TUA §. 25 A &
f&rerept T HE=T AT HifST?

 'A.200
B.360
C.500
D.490
E.NOT
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A bag contains 1rs, SOpaise, 25paise coins are in the ratio of their value is 30:11:7 and
their total no. of coins are 480. Find the number of 50 paise coins?

T Ja1 # 1 U, 50 UH, 25 UA & o §, 3a9b HeI BT AUTT 30:11:7 & 3R 3AD Pl
&7 fohdar §2 Bl & &I 480 &1 50 U & gl Hr JEar Ard hiiaw?

{7 ;)\> A.66

B.132
€.220
D.124

E.NOT
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The number of mainas and parrots in an zoo is in the ratio of (4x + 5) : 4x. If 25 mainas @\
and 10 parrots are added to the zoo, then, the ratio would change to 5 : 3. How many

mainas are there in the zoo at initial?

th RIER & A9 3R JIar &1 g&AT (4x+5):4x S # gl afe RfzamEx &7 25
%ﬂtmaﬁaﬁ%aﬁ%‘,ﬁWSAﬁmml , A URAS §T A fhda A
?

rhou)S 10 A.20

B.30
C.35
D.25
E.NOT




The ratio between the number of blue and number of red pebbles in a boxis 6 : 11. If 12

blue pebbles are removed and 18 red pebbles are newly added in a box then the ratio

becomes 2 : 5. Find the total number of pebbles were present in a box before addition and
removal?

Uh dfeFd H el 3R oIl hehg &l EIT & &1 &l HJurd 6: 11 &1 IS Th dird & 12 Al
heps &l faU ST & 3R 18 dTcl hehs Sl SiId & a AgUId 2: 5 & Sl &l Sz 3R
gCld ¥ Ugel Uch diFd H HAISG hebsl I Dol EAT AT hiToid?

77N
X% A 215

B.200
C.204
D.210
E.132




